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a) How many sig figs:

18.012

b) Round to 1 sig fig:
=

c) Find the uncertainty of the following data set:
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Calculate the average and uncertainty of the following
data set:
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» Correct the following averages and uncertainties:
> 1.023+/-086834 <. 003 \
> 493.13/92 s g 0
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* Find the average and uncertainty of the following data

set:
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Conclusion:

Conclusive statement: 3.
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Horizontal relationship
Quadratic
Supporting data

Maximum value and minimum value

My maxiumum Angle/ mass/length was ___ with a
period of . My minimum angle/mass/length was
with a period of
State the equation: = | 6

y is Mpmid [ gt

the pendulum.
My equation is y=30x1‘ where y is the length
and x is the period.
Scientific Explanation :
Prediction
COnfidence

My equation is p=1.1s, where p is the period of
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Conclusion
Conclusive statement

Horizontal relationship t_—_%
Quadratic Relationship

Supporting Data:
Maximum and minimum data

My maxiumum mass/angle/length was with a
period of . my minimum mass/angle/length was____
with a period of

z -
state the equation: = % P= 6
where y is the period and x is the length.
where p is the period.
Scientific Explanation
Prediction

Confidence:

Conclusive Statement:
Supporting Data:
Maximum and minimum

My maximum angle/mass/length was with a
period of and my minimum angle/mass/length was
with a period of

- 4
State the equation: ¢ = [.ls 9, =Z8X
Scientific Explanation:

Prediction:
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» Correct the following averages and uncertainties:

> 1.023 +/-0.0034
> 493.1+/-2

» Find the average and uncertainty of the following data
set:

« 109450, 109562, 109729, 109103

Calculate the average and uncertainty of the following

data set:
4 Y
0.0024, ~ 0.0031,+ 0.0030,+ 0.0025
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a) How many sig figs:

18.012
b) Round to 1 sig fig:

2 O

c) Find the uncertainty of the following data set:

%518.012, 1 ? : 25 - 1g.0l7
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